
O
ve

r t
he

 fi
rs

t 
se

co
nd

, t
he

 s
pe

ed
 

go
es

 fr
om

 0
 m

/s
 to

 
9.

8 
m

/s
. A

s 
th

e 
ob

je
ct

 g
ai

ns
 s

pe
ed

, 
th

e 
di

st
an

ce
 it

 fa
lls

  
in

cr
ea

se
s 

to
o.

 

O
ve

r t
he

 le
ng

th
 o

f s
ec

on
d 

2,
 th

e 
sp

ee
d 

pr
og

re
ss

iv
el

y 
in

cr
ea

se
s 

fro
m

 9
.8

 m
/s

 to
 1

9.
6 

m
/s

. T
he

 o
bj

ec
t f

al
ls

 fa
st

er
 th

an
 d

ur
in

g 
th

e 
fir

st
 s

ec
on

d,
 a

nd
 s

o 
co

ve
rs

 a
 lo

ng
er

 d
is

ta
nc

e.
 

At time = 2 s
Velocity = 9.8 m/s x 2= 19.6 m/s
Acceleration = 9.8 m/s²
Distance fallen during second 
#2 = 4.9 m + 9.8 m = 14.7 m

At time = 1 s
Velocity = 9.8 m/s
Acceleration = 9.8 m/s²
Distance fallen during 
second #1 = 4.9 m

At time = 0 s
Velocity = 0 m/s
Acceleration = 9.8 m/s²
Distance fallen = 0 m

t= 0s

t= 1s

t= 2s


